





Module 7.1 – Answer to Exercise 3
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Project:  �
Station:  �
Page  1/1�
�
Course:  �
Date:  �
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�
Test:  �
No. Skilled/good trainees:              4


No. Unskilled/poor trainees:          4�
Maximum


Score:          100�
Module No.:  �
�
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 1.	too difficult, revise





 2.	doesn't discriminate, revise





 4.	too easy, revise





 5.	too difficult and poor discrimination, revise





 6.	doesn't discriminate, revise





10.	too difficult, revise





11.	too easy, revise





Validation of Objectives and Tests
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